FINRBEBKRKAY T IOV TEBRRE

BFIIL—L
[551F—)L]

F—L% No V VM| TS| TR | Ind

EEEESK ® 0 Jo.00 | 51 [ 90 | -39

% - BRAD1Z=TIRA @ 2 (1.00] 90 | 61 | 29

RBEZCa1=7F4 b+ ©) 1 [050| 79 | 69 | 10
(52 T—)L]

F—L% No V VM| TS| TR | Ind
RIBTESH @ 2 [1.00( 90 | 49 | 41

DTS5 @ 1 050 78| 72| 6

1B#HFT TV T5T B 0 [0.00| 43 | 90 |-47
[563 F—)L]

F—L% No VM TS| TR | Ind
BEZISK @ 0.00 | 38 [ 90 | -52

SEJFC @ 1.00 [ 90 | 42 | 48
EREEY 57 ©) 0.50 [ 70 | 66 | 4

[54 F—)L]

F—LA V [V/M[ TS| TR |Ind
R SRR 2 |1.00| 90 | 52 | 38

BISEHA 1 |0.50 (82| 78| 4

5 =4%B 0 |o.00| 48 | 90 | -42

(381 T—)L]

F—LA V [V/M[ TS| TR |Ind
BREEER 2 [1.00| 89 | 57| 32
EEEFESKR 0 [0.00 | 42 | 90 | -48

BREEIST 1 [o.50 | 83| 67| 16
(582 T—)L]

F—LA No V [V/M[ TS| TR [Ind

RS = O) 2 (100 90 [ 61 | 29

BEREER @ 0 |o.00| 75| 88 |-13

1EHER €), 1 [o.50 [ 71 | 87 |-16




BFIIL—L FRIT—IL O—FIELE

I iz F — L A V|{VM| TS| TR |Ind

14 E W JFC 2 |[1.00 90 42| 48

241 E B I 25 K 2 |1.00 90| 49 41

3{ir BB R B M &R 2 |1.00 90| 52| 38

441 (BAF-EEADIZ=TFIRE| 2 |1.00 90| 61 29

560 | RBEa=7F+4Fr] 1 |050 791 69| 10

61iL M B 5 ® 1 |050 78] 72 6

71 B It 3 & A 1 |050 82 78 4

81 ERE®BEYZI 1 1050 70| 66 4

eYivd T BEEEBE K 0 |o0.00 51| 90| -39

1043z B 5 & B 0 |0.00 48 90| -42

1ML (=5H#F7zo205935T1 0 000 43 90 -47

1241 B EED2IT K 0 |0.00 38| 90| -52

XK1 ~8HRIETHA)—FIHH
MBI~ 1261 FETHBY —I<#H



TFIIN—L FRBT—)L O—FIELE

I iz F — L A V|{VM| TS| TR |Ind

1431 BEREBEmBmE K 2 |1.00 89| 57| 32

241 VI B = 2 |1.00 90| 61 29

31 ERE®BEYZI 1 |050 83 67| 16

4431 H® B & ik 1 |050 7 87| -16

541 BE R B & K 0 |0.00 75| 88 -13

61iL H EEEE K 0 |0.00 42 90| -48




FEIFEKDYT 2TV THEBRKRE BFIIL—L (A=)
1 EHJFC
R Bk
V 45
28 RIBETESHK
Q) V 45
24 BHJFC
35
s IR L
8 EREESST 34 EREMmEKR
® 36
5 Elﬁﬁ:):l.:?d'/rh AfL BAFT-RERU=TIEA
34
® 42
V 45
d B mAUa=TES it .
RIBTEXB#HK
@ I
3 R t
RREmRA 1 @& —RIE
V 45
141 BHJFC
24 RIBETESR
® 39
34L B RERER
44 MR- AR T7RE
35
541 RIBC2=7F 1+
6 s E R
611 AEER
® V 45
74z B ERA
7 BIEERA
81t BEREEIST
16
@ V 45
V 45
2 RIBETX5%
SR EE
M- A1 T7RE
43
V 44




SFHREEKDYTIZVT

EEARSKR

V 45

=3# 7005957

MIBEHB

31

BBEXKE BFoIL—L(BY—T)

RRIELL
B IR =128
243 EEEEER
31 BEZISK
43
4451 1=3#3F 7o F 95T

SR EE

EREEZ2EK

=33 70005957

=5
B =B
®_
1 @& —RIE
11 EEREESR
2fi G =B
40
3 =33 T7I005950
44i1 BERZZER
V 45
V 45



FHEEKDYT IOV THEBERE XFIIL—L

44

V 45

EREEEK
V 42
©)
EREESK
V 43
©) 28
42
EE#ER
®
BEREEIST
V 45
@ V 45
33
EEEEER
@
38
G =R
SR EE
EREEK
43
V 44

e R

BRIEL
B BREBEYST
2fa BRBEEK
3fa WS

afa BREER

&8

| ERRESST

1@ —RIREL

142 BEREMEK
24 R
34 BREMIS7
4 EEELR
541 BERESR
611 EEAREKR




